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Rezolvarea problemelor – prof. Teodora Cosma
image7.png
Jea 3
) o mad mcmummndwml&*v\m“’mﬁm
S ot fo.

a dm

3 tan o e b 8 ST L

= ‘%‘:
T As

®:
O 1,(3) sant

,qgﬁzn,uﬁmuf@=q75

M(S.Quoonowofl)
m,:Sﬂﬂ‘]ﬁSﬁBﬁ‘BSz) ey
Ob: agassaaats |7 435
| 0-5:99999999
@' qqgegwa'«."sl{ siph

9 3

Toe e 3

Peasbuane: A(ME€)=ME~DECT= Gemid s 14,5 om
®: A1 E)=Me-=LSom.





image8.png
Y 5 2 : f\\
Sert ()= 96-mii) /mg)
()< 190°- (@)
. [ () M6 m )] = Go°
Clm @)
Rezaliare: H=m()t #0-nld) -+
5 —e0
2"~ 2 (1) = 20 G0°
U~ 40°= 2m (1)
150" = 2.m(d)
mld) =150 2,
®: m()-5°
9. % [ b -z 3 D S
&~ mifllc] z
@ [a4ed—isoseal
- »

Reatloans -
Medsad: £ e ~de. M(g) 95" [udla[i%‘-] =5 aReE =adeE S ‘
ADE~ &,m(c) ac® [BE] &ﬂ uot)
= ezl - &rev-isosal
Metoha?  ane-dn jm(B)-o8 | Bwls [hﬂll,)ams«mz >
T anee-d ) m(d)4r | Bl =lee) (ee)

= rel=Bel => aren- ~lsosaal .

(2 g ;,)AaeA»/saml,

[#e]=pE]





image1.png
Modele de teze pentru semestrul |
Teza 1

w
w

o

.

.

w
an
w»
o

Seacods 1t dinfcs.

1. Prcintcl s i i sl s compas e ki

2 Do mmae. o mmme. pnis mumere 1715

3. Subi vaouren do adevt o ropories: Fracile 2 i 1t e
et i i e ol

is
3
§-3)oas

Am.._m‘.u.-u(

5. Dermina il w35
s

0, core ey conda (38 60) =

P

& Decminn i it e > 2%

7. i D) e g i & 5.5 . D sk c C it
poncle A e pce el AC

. D DEF o g el cu smiperinen e 7 e, s
angie s [DF]

9. Al b o dou smght sl dch rs i e e
5 e dk il el ngh

Tera2

w
.
i

i

aw

.
.

S aco 1 puntdinfc.

ez ol s e sl i d dos. i it
2 Dt g pen e 245132
3. Tl o el 1,8 1 e i ducibl.

4 Rt 0, et

5 Do, . e 3 2 ot e

. Secomsderk il =254 At cha 3.

7. e vt s comhhpuncile 4, C oot i i .48
e AC 3 o el BC

ilm—mﬂn—-m




image2.png
(1D 8. e MIVP g cu e e 35 cn, Dt 40 - 13 e g NP =
9 bl vlwca i v proerkil NP st st

{19 3. P €D, €0, 0. ... 0u ot i vl e O, Dac s =
U0 + ' 60) = (0] + 2, (e <0 + o SO0
= 8(601) + 7 decmins e clor ot oghir,

Tezas

e 1 punt din .
{10 1. Dol s i s st d o 5 it S,

1) 3. Deemiai ce s mae e sbesiar o e et i i
pesiaraery

(1) 3. Aekaict el e 2 .5 st i el
) 4. Acai 8 it o pocy 075 s v surseuhs i
o 13,
fLa

1) 6 Scconsders vt ra =2+ s cna 9,

) 7. Dac pumcul A et il sl 0] . i e 9,
i ).

(1) 8. A ks e g, i < i vt » compmcsl g
plemcrnlu s e gt 6.

(7). In depesghi ABCD, poenc £ ol s (8. Avk c -
il 12D e et





image3.jpeg
(?/u@’ g duexi wonise cemedtnioke
I Uasa aVl-a
Jeza t
P, el mat mawmi E‘:fm nwowdauauf/;;fi:

deuz uw 4S, impa.
1) fe=2%2 o= (I5H4)=26=8
122203 | o mom.meiey (8= [i2; 181 =0%8'= 26

.

K )§=‘ > Fracliil £ 9] MWW'“
ujnmm

6 % a "“hm‘“ﬂf’wv '
Y ﬁg»-.om:__:k?— Lyt = Lo +=90
1 " log, | S 5z3
5) Wenjatoy (F;69-t0 =>$ i'igf sk
“{‘.53}3 (a@)=t=
= @b e lgzo%o}.
(25)! (5 2"®

5 t]
i 6) menl: _§W>25 : 53" SEF 3 53»\‘)’5_!? >

=5 Im <L ¢=> m<h

@: mefone sy, )
s 3 w’b:f:}lsw
k dFun p N
Rasluane : -
B e \am:z‘mz. e
C=h> =B WAJUQ .

®: AC=tem.





image4.jpeg
3 3 | aer —ashilofeucl
‘ ok i

t&.#am
T O to L
sl D= Pliom S =Sy Fn
®:pe=580m.
S
B :

9. F[ Dy b, -
o LR
@ m(, m(T). :F:Eﬁ
e m(mwf'fv):“w =

an(ig om0

Jom () =43
: m(ﬁ?}:mﬁ’:l« '>‘r'l((fl)al'%nlSA

L)< 15 + 10 RTHS 1= e
®: midhs' s mba)-sis!

Jexa

0. @l mad gt ouwmn natial fiin D
aipu difeuhe ot (5.

9 =23 o
3025 ¥k
(2422) = 2°=8 4 i

i 37\ 2532300 =90

9 435880 3 42
loo L B





image5.png
.
B 3x-l=1g sxe®
L
T N ko s
® s-{3)
9 e-epdy b &K T
Ty st 2 <>k XT 2T e

&> h(lox+2) ~3(20+%)
hox+ &

o+ ¥
kox - ¥ = lko-&
33 =132

St =l
0 ot 5= 6256255 =
e AlE sts
- 1953125
Nadal -k (322 1252425
A;k,(gﬁoooooq)
@=h- 62493993

G424u+5= N2+ US=SY =219 2 62499999 iizfg)

= atd.
Midoda? @ = 249999996 > @3
24446146 = G +Go=6R 1D i
52 Yo
—hae P8 et — ©
Reasloare's

2o
BC= A~ AR = fem 5 20m =2, &
=28 om.
®) e =2,80m. ; ¥

S R R




image6.png
P|AMNP 5 P36, v
MN=(30m , NP= Fom
« AMNP et Tsoseed ¥ (A)
Rostlians : B = MN4NP+MP =13+ Fvra+ P = 35 0m 5)

=>MP = 350w ~22 w5 ‘“\P='3<""H; Mp]= [MN]
)MNz(Et/m )[ ] [ 1‘;’

= AMNP Iscscal .

9 Yp | KO, TR - umgluiant B o punchib O
m(ol\ m(6,)+(°
m(o§)= m(B,)+2"
m(Ou)im[S)*E”
m(og m@)e e

Rezolyan »
G, ) 0@y ..+ ( Gy )= 360"
W)t (Gt 4 m(G)r 7° =360

L) + 1% 2% 34 4245% 6% 360"
Pu(d, )= 360°-28°
$u(d)-35

w(5) =338

M (d,) =h1°30"

@: m(6)=430 5 w(ds)= 45°>d
nid)~4a%’ | u(%: 4630/
m,)= 4330 ;

) (dy)=4g" 30"





